Year 2 Maths problems — ANSWERS

-

Section 5
What 2D shape is at both ends of a cuboid?

Section 1 Section 2
Along a road, there are 28 street lamps. Put these numbers in order, smallest to largest:
% are. nc;t working. How many are not 33 13 23 34 53 73
working?
[ 13 23 33 34 53 73 ]
14
smallest largest
f N
Section 4 Section 6
Draw the hands on the clock to show this Lollies cost 20p each.
time: Quarter to 4 I have £1.60

How many lollies could I buy?

7

Section 7

Fill in the missing numbers:

J

Section 3

This table shows the number of girls and boys who have

red, black or white cars, in Class 2A.
as a tally.

Show the numbers

Draw the reflection of the shape.

[ Car colour Girls Tally Boys Tally
Red 4 I 10 | MM
Black 8 Ll 6 M
White 7 W 3 [l
Section 8




N
( Year 2 - 90 seconds )

BIG MATHS... %

*BEAT THAT!

8x2=16 7+8=15 5+8=13 8x10=80 |4+8=12

3+9:=12 6x2=12 4x10=40 |5xb=25 2x10=20

2x2=4 5+4=9 3x2=6 7x10=70 |6x10=60

5x10=50 |6x5=30 |6+8=14 5x2=10 7+9:=16

4x5=20 |b5+7=12 Ox10=90 |6+7=13 8x5=40

6+9=15 2x5=10 5+9=14 Ox5=45 3x10=30

7x5=35 |7x2=14 4+7=11 5+6=11 3+8=11

8+9:=17 4+9=13 4x2=8 3x5=15 Ox2=18
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